Construction division. Advice for giving credit to contractors/suppliers.

regist		1	5 29	7	Date Regis	- site bi	lls	28	-9-22
	pany Name:		mRm	LLP	Site:			G	MR
	e of Contractor					rda	, p	Balad	
	re of work			+	iles	h	rock		
Work	done	Fro	m Date	10	-8-	22 To	Date	15-	9-22
SL No.	Villa/Flat/block no	0.	Qty.	Rate		Units	Amor	mt	Contractors bill no
1.	D- Block		3384	1	6	stt	50	4,144	-
2.	Platro1, 30	51	1044	(6	Rft	16	,704/-	
3.	5039 50		1200	1	8	SHE	21	,600	
4.	4 x2 til	2	279	1	5	sft	4	185	
5.	laying		3384	_	+	sto		.536	
6.	work		1044		4	PH	_	176	
7.			279	-	4	Stt	11	16	
8.								1	
9.				-					
11.	-	otal:		+-			/		
	required		ES NO.		Cer	bill regu		464	
						-		□ YES	
	surement &	4	Required Not require	1		surement nate sheet			
	WO no.	1	Tot regamen			WO date:		-	iciosca
Rem	erics :								
10011		-							
Appr	roved by Project M	anag	er) App	proved l	by Des	ign Team	Ap	proved by	M.D.
Date	: 28-9-22	- 8	Dat	e:			Da	te:	
Sign		/	Sig	n:			Sig	n:	

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for entifying labour bills, bills for hire charges, each work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

								1	S No.		Date:	Prepared By	Contractor Name	Work Descriptio	Project:	Company Name: MRMLLP	MEASUREMENT SHEET
				Kitchen & utility		Skirting 4' X 2'	4' X 2' flooring	D-301,503,504	Item Head		28.09.22	P.Sai Kumar	Contractor Name Janardhan Prasad	Vetrified Flooring	Gulmohar Residency	MRMILLP	IT SHEET
				(93sft per flat)	(200sft per toilet)	Skirting 21%	SBUA 1660sft (68%)	vetrified flooring	Item Description					Work Descriptio Vetrified Flooring and Bathroom tiles in 1660 sft flats at D-block	ру		
				93.00	200.00	348.00	1128.00		Length	A				50 sft flats			
				1.00	1.00	1.00	1.00		Width	В				at D-block			
				1.00	1.00	1.00	1.00		Height	С							
				3.00	6.00	3.00	3.00		Nos	D					Sign:	Approved by Ramprasad	
				279.00					Quantity	E = AxBxCxL						Ramprasad	
				sft	sft	Rft	sft		Units	F							

ESTIMATE SHEET	51					
Company Name: MRMLLP	MRMLLP					Approved by: Ramprasad
Project:	Gulmohar Residency	icy				Sign:
Work Description	Vetrified Flooring	Vetrified Flooring and Bathroom tiles in 1660 sft flats at D-block	1660 sft flats	at D-block		
Contractor Name	ontractor Name Janardhan Prasad					
Prepared By	P.Sai Kumar					
Date:	28.09.22					
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount
	vetrified flooring	vetrified flooring SBUA 1660sft (68%)	3384.00	Sft	16.00	54,144
	4' X 2' flooring	Skirting 21%	1044.00	rft .	16.00	16,704
		(200sft per toilet)	1200	Sft	18.00	21,600
		Kitchen & utility	279	Sft	15.00	4,185
		SBUA 1660sft (68%)	3384.00	sft	4.00	13,536
		Skirting 21%	1044.00	Rft	4.00	4,176
	Kitchen & utility (93sft per flat	(93sft per flat)	279.00	sft	4.00	1,116
						1,15,461

Bill for Labour Charges

Janardhan Prasad, Plot-no-42, Vinobha Nagar, Hyderabad.

Date: 28.09.22

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work: Towards:

Tiles Laying Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in D-301,503,504 flats in D-block . Total Amount = 1,15,461 /- Work done from date 15.07.22 to date 20.09.22	Rs.23,092 /-

Amount in words: Twenty Three Thousand Ninety Two Rupees Only.

Sign:	

Bill for Equipment Allowance

Janardhan Prasad, Plot-no-42, Vinobha Nagar, Hyderabad.

Date: 28.09.22

In favor of:	
--------------	--

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Tiles laying

Towards:

Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in D-301,503,504 flats in D-block . Total Amount = 1,15,461 /- Work done from date 15.07.22 to date 20.09.22	Rs.46,184 /-

Amount in words: Forty Six Thousand One Hundred and Eighty Four Rupees Only.

Sign:
Sign:

Allowance for Consumables

Janardhan Prasad, Plot-no-42, Vinobha Nagar, Hyderabad.

Date: 28.09.22

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Tiles work

Towards:

Allowance for Consumables.

0.31	Description	Amount
	Brief description of work done: Tiles laying work in D-301,503,504 flats in D-block . Total Amount = 1,15,461 /- Work done from date 15.07.22 to date 20.09.22	Rs.46,184 /-

Amount in words: Forty Six Thousand One Hundred and Eighty Four Rupees Only.

Sign:			